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QUESTION 1

What statement regarding Openflow sessions in data center networks is TRUE?

A. By default, the Openflow session is established with TCP port 6633.

B. Openflow sessions run between VSCs.

C. Security in mandatory with SSL encryption.

D. Openflow sessions can be established over either the data plane or the management plane.
Correct Answer: C

SSL (Secure Sockets Layer) is the standard security.

QUESTION 2

Which of the following is NOT a goal of NFV?
A. Reduce equipment cost

B. Faster time-to-market for new services

C. Efficiency through automation

D. Increase network bandwidth

Correct Answer: B

QUESTION 3

Consider a domain with 3 subnets; each subnet has one virtual machine. Each virtual machine is created on a different
HV. How many EVPNSs are created on each HV with backhaul VPLS AND without backhaul VPLS?

A. With backhaul VPLS, there is 1 EVPN; without backhaul VPLS, there are 4 EVPNs on each HV.
B. With backhaul VPLS, there is 1 EVPN; without backhaul VPLS, there are 3 EVPNs on each HV.
C. With backhaul VPLS, there are 2 EVPNSs; without backhaul VPLS, there are 4 EVPNs on each HV.
D. With backhaul VPLS, there are 2 EVPNSs; without backhaul VPLS, there are 3 EVPNs on each HV.

Correct Answer: B

QUESTION 4
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What information is included in the VTEP (virtual tunnel endpoint) forwarding table?
A. The remote VM IP addresses, the VXLAN ID (VNI) and the remote VTEP.

B. The remote VM MAC addresses, the VXLAN ID (VNI) and the remote VTEP.

C. The remote VM IP addresses, the VXLAN ID (VNI) and the local VTEP.

D. The remote VM MAC addresses, the VXLAN ID (VNI) and the local VTEP.
Correct Answer: A

IP address is the remote VTEP IP address or the IP Multicast group address. Reference:
https://sites.google.com/site/amitsciscozone/home/data-center/vxlan

QUESTION 5

What statement about virtual switches is FALSE?

A. A virtual switch is typically implemented within the hypervisor so that the network is extended onto the server.
B. Virtual switches are VLAN capable.

C. Typically, virtual switches are as capable as physical switches, eg: LAG, hardware-based QoS.

D. If a virtual switch is not on the hypervisor, all traffic will go out of the physical NIC.

Correct Answer: D
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